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QUESTION 1

What are disadvantages of using Fibre Channel Arbitrated Loop (FC-AL) rather than fabric Channel switched Loop (FC-
SW) topology? (Select two.) 

A. FC-AL topology is usually more expensive than FC-SW. 

B. Only one pair of ports can communicate- at the same time. 

C. Multiple pairs of ports communicate at the same time. 

D. The failure of a port is isolated from the other ports. 

E. The bandwidth is shared among all active nodes. 

Correct Answer: BE 

 

QUESTION 2

Which HPE storage devices support adaptive optimization? (Select two.) 

A. StoreOnce 

B. StorEver 

C. StoreEasy 

D. StoreVirtual 

E. StoreServ 

Correct Answer: DE 

 

QUESTION 3

According to best practices, what provides the most usable capacity for an HPE 3PAR StoreServ SSD CPG with eight
disks? 

A. RAID 1 

B. RAID 5 with a "set size" of 3+1 

C. RAID 5 with a "set size" of 7+1 

D. RAID 6 with a "set size" of 6+2 

Correct Answer: D 

 

QUESTION 4
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Your customer is deploying a new application that is based on OpenStack. Which HPE storage solution supports this? 

A. HPE StoreEasy 

B. HPE StoreEver 

C. HPE StoreVirtual VSA 

D. HPE StoreAll 

Correct Answer: C 

 

QUESTION 5

In the HPE 3PAR StoreServ 8000 series, what is the maximum number of ports in a single node pair for the iSCSl/FCoE
host connectivity? 

A. 2 ports/node pair 

B. 4 ports/node pair 

C. 6 ports/node pair 

D. 8 ports/node pair 

Correct Answer: D 

Latest HPE0-J75 Dumps HPE0-J75 VCE Dumps HPE0-J75 Practice Test

Powered by TCPDF (www.tcpdf.org)

Latest HPE0-J75 Dumps | HPE0-J75 VCE Dumps | HPE0-J75 Practice Test                                3 / 3

https://www.geekcert.com/hpe0-j75.html
https://www.geekcert.com/hpe0-j75.html
https://www.geekcert.com/hpe0-j75.html
http://www.tcpdf.org
https://www.geekcert.com/hpe0-j75.html
https://www.geekcert.com/hpe0-j75.html
https://www.geekcert.com/hpe0-j75.html

